Multiplying a Monomial by a Binomial (F)
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Simplify each expression.

=9t (=2n+1)

- 5a*(8a* + 2a)

—4a°(3a* + 8a®)

5y°(6y° + 8y?)

—3b(—6b° 4 8b*)

2q(—84¢° + 9¢*)

C—T75%(—25" — 25%)

- —=b5r(—4r —2)

=927 (—4a® + 827)

203 (—8v? + 9v?)
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Multiplying a Monomial by a Binomial (F') Answers
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=t (—2n +1)

— 18n° — 9n*

- 5a*(8a* + 2a*)

= 40a® + 10a”

—4a°(3a* + 8a?)
= —12a° — 3248

5y° (6y° + 8y°)
= 30y° + 40¢°

—3b(—6b° 4 8b*)
— 18p°% — 241°

2q(—8¢" + 9¢*)
= —16¢°% 4+ 18¢°

—75%(—2s" — 25%)
— 145% + 145"

—br(—4r — 2)
= 207" + 107

—92°(—42° + 827)
— 36a2° — 722"

203 (—8v + 9v?)

= —16v" + 180°

Simplify each expression.
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